
Planta de enquadramento       

1-Sobreiro

2-Pinheiro bravo

3-Cedro amarelo

3a - Cedro

4-Ligustro

5-Pinheiro manso

6-Choupo

7-Carvalho

8-Amoreira

9-Chorão

10- Pimenteira

11-Freixo

12-Plátano

13-Castanheiro

14- Aveleira

15- Loureiro

16- Medronheiro

17-Faia

1

5    5

9 5        7   
8

2
5

5

5

5 5

2     5

2

2
2

2       2

2 6

2
5

5    5                    17      5           
5 

3 2

4
4

5
3
5
3

5

5        10

10 10   10
4

12

11  7   1
14   7

11         12
7   7   11 1
11  16  14
13   

13   14  16

7

13

6

5   5    7

1     1
10  3a

3a

2Área total – 21465 m
Área urbana – 4312 m2


